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I XS 3T
Skl
/e (RAN 4 A8 R i A 1R ¥A
1 KS2-N1-2 C 1
2 KS2-N2-4 13515 1 | 281 %4
3(a) KS2-N3-4 7 1
3(b) KS2-N3-4 96 1
4 KS2-N3-5 1@5:%? 1
5 KS2-N4-3 1.44 1
6 KS2-N4-2 A 1 | 28248085 e85
7 KS2-N5-1 =% i 205 1 | 284 %~
8 KS2-N5-2 1.08 1
9 KS2-N5-1 C 1
19
10 KS2-N5-1 350 1
11 KS2-N5-1 % 1
12 KS2-N5-2 0.85 1
13 KS2-N5-2 1.82 1
14 KS2-N5-3 =i BN T3, -8 1 | 244 %~
15 KS2-N5-4 180 1
16 KS2-N5-6 B 1
17(a) KS2-N6-4 25 1
17(b) KS2-N6-4 48 1
18 KS2-N5-5 BR5ETRR
(36.5—-20)+ 5.5 (O AN - R ) M JE
G
=3(#) U gEs Csdas
17 | 2gA Csdasn)
19(a) KS2-N6-2 117.5 1
3
19(b) KS2-N6-2 2000 1
20(a) KS2-M6-2 600 1
20(b) KS2-M6-4 628 1
21(a) KS2-M2-2 = i 3511 1 El < e A
21(b) KS2-M2-4 %= % 15 30 1 El < e A
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21(c) KS2-M2-3 | 19 1
22(a) KS2-M3-7 22 /km 1 TR A NF
22(b) KS2-M4-5 . lg 1 TR A NF
22(c) KS2-M5-5 | = /L/I 1 | 2 g2z
23 KS2-M6-1 | C 1
24(a) KS2-M6-1 | 48 1
24(b) KS2-M7-3 | 16 1
25 KS2-M7-3 | B 1
26 KS2-S1-1 | 10 1
27(a) KS2-s2-1 | B M2 & 1
27(b) KS2-M3-3 | ¥ # % 272829 & 30 | 1
27(c) KS2-s2-1 | A 1
28 KS2-S2-2 (1) : 5’1, B-D R
(2 ~#2: A~C
29(a) KS2-s2-1 | E 1
29(b) KS2-s2-1 | D 1
30(a) KS2-85-1 | # 1 | 72y s
30(b) KS2-S5-1 I 1 | %3 2 i
30(c)(1)| KS2-S5-1 L3 1 | 72y s
30(c)(2)| KS2-S5-1 LA 1 | 72y s
31 KS2-Al-1 | B 1
32 KS2-A2-1 | C 1
33 KS2-A2-2 |9 1
34 KS2-A2-3 WEEEEF X
10x - 12 =28 Lojolatm o Ao sy g
10x = 40 R
X =4 x| EEA C st g
FEAEEG AR kg (7T sd g
35(a) KS2-D1-3 &= i = >6000 1 A LA A RSB
35(b) KS2-D1-3 | 23000 1
35(c) KS2-D1-3 | = 1 | 22z
36(a) KS2-D2-3 | &= % 4% 3800 1| 284 %4
36(b) KS2-D2-3 | 9800 1
37 KS2-D3-2 | C 1
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